,

7
17.000[47.000 ,

184.000
49.000 86.000 49.000
S
2
o
o
S
o X
S
§_ S
N
A
Iz o
2% =
-?< \ (4]
I Iy S S ——
S
o
92.000
ELEVATION
184.000
SEE "TYPICAL BEND
/DETAIL" THIS SHEET
o
S
Q
S 8
g o
o
S
X
ANTENNA MOUNTING
BRACKET - PLAN
Q
qﬁ’@
SECTION 100
SCALE: FULL S100
212.688
18.550 , 20.950 m
11.500
7mm SQUARE
(BOTH SIDES
OF PIPE)

\ZR3.500

(BOTH SIDES
OF PIPE)

256.000

100.000

29.000 42.000 29.000

12.000

34.000

34.000

12.000

o
S
N
i |
o
S
N
SIDE ELEVATION
46.000 46.000
26.560 26.560
12.000
R4.000
(TYP OF 2) 12.500
2 (g
NENE
~
o
. S
S N S
\ ~ 3
~—R4.000
(TYP OF 8)
12.000
26.560 26.560
HOLE LOCATION PLAN
pd
pd
pd
~_~7Tmm SQUARE
(BOTH SIDES
OF PIPE)
~—R3.500
(BOTH SIDES
OF PIPE)

___________________________________________________________________________________________

8mm SQUARE

7mm SQUARE
(TYP OF 3)

ANTENNA "J" POLE - PLAN

HOLE LOCATION ELEVATION

TYP OF 4

PARTS:

(1) MOUNTING BRACKET

(1) "J" POLE

(4) M8 X 40mm LAG SCREWS
(2) M6 X 60mm STEP BOLTS
(2) M6 X 20mm STEP BOLTS
(4) M6 FLANGE NUTS

I NS

16.9+ 9.4+ 7.7+, 15.0%
C-|\-} 6’(
' % 1>
Z
+ o
S < &
QT ©
Q
" \
(4p)
\
<
/\/
TYPICAL BEND DETAIL

NOTE:

DIMENSIONS NOTED AS (+) INDICATE THAT THE
FINAL DIMENSION MAY BE EITHER SLIGHTLY
SMALLER OR LARGER DEPENDING ON THE TOOL &
DIE USED FOR THE STAMPING PROCESS. ALL
OTHER DIMENSIONS NOTED ON THIS SHEET
WITHOUT A () SHOULD BE STRICTLY ADHERED TO.

NOTE:

ALL MATERIAL SHALL BE AS FOLLOWS:

ANTENNA MOUNT 2mm THICK ALUMINUM
"J" POLE 2mm THICK ALUMINUM

3D VIEW
ANTENNA MOUNTING
BRACKET & "J" POLE

OPTIONAL STEP BOLT FOR
e LOCKING POLE AT 0/90 OR
45 DEGREES

@ STEP BOLTS
TO BE INSERTED FROM
INSIDE POLE AND NUT TO THE
TIGHTENED FROM THE OUTSIDE
(TYP BOTH SIDES OF "J' POLE)

3D VIEW
CONNECTION OF "J" POLE
TO MOUNTING BRACKET

TAYLOR & TAYLOR
CAD SERVICES
309 SUNNYFIELD DR.

GLENSHAW, PA
15116
(412) 486-5033

PROXICAST
312 Sunnyfield Drive
Suite 200
Glenshaw, PA
15116-1936
1-877-777-7694

Revisions

No.

Date [By |[Description

Date

NOVEMBER 30, 2021

Drawing Name

ANTENNA
MOUNTING
BRACKET
& "J" POLE

Project Number

Drawing Number

S100




